RC 5o NenFo o CLOIF2 =Spdl Cadd (25N gyl
2 5 'G)“" ) : - = : -—— -
®=T=60wms C’(f‘-‘U‘—’_,,’-J"’ @Wff”()w’@w
_ C=2x10'C .3 vyl
Eccw)= 8)imj -4 -
o1
Uan = = e bef, Ne .15 dﬂy}&% S
Ry = 200 \ & } S
Egy = F T \z_| s oSl cs, i S IEW 1
o, () Ll s L
I:"e =—0/0'1ZA.-@J9\5 2,01 —pelyad e
R 4R, o oo C}L_Lis),:d_‘.:..'jt_g),;}\ =Ll
p o :Cd‘:‘?z-olo"g‘\ @b QA—'(S“" A _G,\/))J(L/)U—(J-'(:i
A @ Sy P P Ty 2
+ 2"':‘" A = —LE..,— -1 (Sl
l R = il E
’&\')U-Igoo_,”) /ll,étgc,__cjj'_ 2 76(749: G,é? HCV/MCC i3
N EE () = [£23 eV /huel
"y - . 5 =43
V= SbfL - 3 P e  pVlan el g es) TN
=S50 L 4 : L
. E’ c 20BN 3 NG =Nl e \€ “*
=06 H < =025H . - o=t . T sid b (L7 sl
2 - s BB ban s el o £ l0)
CARRATICRS S [BoiliEY, e unl) G i S s
.E‘.éz i i Ey =~ 10 mmn - AlH) = 4 € N
¢ CN &y a3 -
= CF!/;\“ CJ.//:‘M W\,: 4)'5)(10 % \Q
rrll? ‘@-' ?4;8?0 \Q
Lzl cs 55 O s A N (19 N St
L/;:v-\.:- /\’)’313)‘;:‘ c 55)9 2l s N(12) N/n)a LAk A
B P PR S S v &_‘;;4‘:‘76 5
=" S5 7))yl ags)i‘)‘,)\_)-*‘b 6\'(/\31"*"\ €17 = 500 ans -3
= { \:ﬂ:-‘ d}A-P -2 2
e, = 2446 el (,n(ubj.,gx,,‘o"m% 18x10° U o A @
\\ -, e
6o= 0S5 Sm' -3 M T
X = V\ED_VLE et W\U=5‘7/“7£7 L4
6= )Na*C,+>%_VJE‘3;‘}*X__’\/E 4zr—/f/£} dymé,jy';;ﬁu-s
6= 1450 +021._ G EN o=
E/, ’ d%-&- A U_ =__i_.. 4 @
6= 021 56m' 1-JCN .5 | IE C Rak)e *® (Rak)C
¢ gelh 63y X=(RtB)C OS5 O) <8 Cof

QY




— Ts -
16X 10 mol/, \&

. -18
[Hioﬂ = ’IO -
[HOJ HE

SSA (o 5y NS Coam N
Cu= g02mblc sl 0pS 5 a Lpule
/.>;</= _foz Ca = 1F

r—?C)\)&‘ y(éd‘(———‘?u
L;ei‘d,_\.s‘\(h_‘?)p Lv/g C_/)-“
Obydub ¢yl =sl

.4/1 éﬂ@'( ,S ()),:u) r"’_)

é"/L: 12 v LG
e 4 45 >
cl:r.z —ct Ng
e
n — dnge
Se= 14S EC .r
dx . 4 de P
TE 1ys ok .
Vel = Ax402 vl 57 vy
wnd )P
Sxgamas ®
! 1
]
‘2
5 2 ) 1
| X
| \ CML)
o e T\é
L= g1 w(HD) - Galge -2
V\(\‘\Q—>°= O/L‘. wausd -3
neo = 0/2 wasd_
-4
W(NG)= 0,02 wwl \e
Cp =222 Lot/ [
20x40>
A= S5 o) bl
C,= =L Zvv\»—e/(_

S5
Ca = -—'1—— g0z wsl/l

\L = 20wl CJLT“;
Jm > 5mlL 1 C}L"(A——-‘J(

S N7ad AR P  IAVPTRB RS
cSUL CHQ"
Plh = 4q+cczc4,’ ¢
=423 o
CEP I A,
L0y —> 3
) s

E(ZOML ,7’8)

&




